»multiply
pipeline: generator
a: -4

»main

pipeline: generator
return [-24, -18, -12]

Y

» multiply
pipeline: generator
a: -3

» multiply
pipeline: generator
a:-2

return -12

return -24 return -18
»<genexpr> »<genexpr>
.0: generator .0: generator
a: -6 a: -5
return -4 return -3
» subtract » subtract

pipeline: range(1, 4)
a: 1
return -6

pipeline: range(1, 4)
a:2
return -5

l

»<genexpr>

.0: generator
a: -4
return -2

:

N~

»multiply
pipeline: generator
a: -2

return None

» subtract
pipeline: range(1, 4)
a:3

return -4

:

» <genexpr>

.0: generator
a: -4
return None

:

»subtract
pipeline: range(1, 4)
a: 3

return None




